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1A AukeEAAR] ¢ 20,00090#67 = 100,000
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B3 AkH] 1,600,000 #23] = 3,200,000
m:g 9 WA AEE] 2 400,000 %13 9,400,000
wolele g £9dn] 1 100,00099%23] = 200,000
3.71ere sk 9 A B 1,500 3,205 -1,705

o]2¢ 2023 059 31% 10A] 25% 10% 3 A7 EuSH LAY




20238 A= A= of| AT A A]
AT Helat (9] : 29D
A+
: : el | D55 0 HE712(2)
A ] | A AR A7HE AH & e s
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1. 540 Sn g9 15,700 12,000 3,700
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1. A& 1,000 1,000 0|83 =% 79 & 250,0009%43] = 1,000,000
2. 8] F TG 6,000 4,000 2,000 5483 ¥F 9 1,500,000843] = 6,000,000
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1. %89 400 400 0|@ZAF 51 1 200,0009+23] = 400,000
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1. 590 13,000 15,600 -2,600 | WF3A] nLa-<dn] 1 1,000,000 #4385 = 4,000,000
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2.4 APes 18,790 8,250 10,540
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2,35 -gou 67.704) 54870 12,834 N R AE T 130091214078 52 9,464,000
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#2607 =
Ol A] EX FA (7Y TS E
ﬁ Td Zo —1(70 o+:1L_E\_) 1,550,000
1,550,000¢)%13] =
=44 A 2 A A 300000
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Ax13] =
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3. g ETH 1,650 880 770
T g/ 23 Al )
1.Yuk4gn 1,650 8830 770 o v 900,000
Sl 900 000 4 1d =
frolE ] Qb AR A Z 12,5009 #3005 750000
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3.85494 9 50,370 17,690 32,680
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6.3 Anke-3 174,975 173,808 1,167
1.3 a7 54,315 45,328 8,987
L5-A71 339 37,915 34,328 3,587
1.0 - 11,644 11,108 536
1. YR 310 8,500 8,000 500| 2  Fejsn] 1 350,00090%103] = 3,500,000
A ZAM] 1 50,0009%203] = 1,000,000
g =% ¢ 500,000 %43 = 2,000,000
R g E] ¢ 100,0009%203] = 2,000,000
2. 4T JFY AN 3,144 3,108 36 A AT GFFH 1 262,000912704 = 3,144,000
2. WFPHA LY 18,091 16,210 1,881
1. Yuksegn) 9,060 8,300 760 | A8 41H] : 200,000 #43] = 800,000
537 JhE : 200,0009%1270 9 = 2,400,000
FAGH ARFE 9] ¢ 250,0009+43] = 1,000,000
BAREA] 9] 1 500,00090#63] = 3,000,000
FAGFEFFE 1 80,0009+103] = 800,000
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9 g TTaD 201 950 n ;lﬁl%a‘ AARZHET 291,000 1 291,000
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ﬂ*@ﬂ%m 2 AZFAGH] 1 30,0009 %43] 190,000
w2 EGEE Y 1 50,00099%103] = 500,000
2. 05 1,000 0 1,000/ 9w AE ¢ : 1,000,000912 = 1,000,000
5.9 429 0 870 -870
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1. Yuks=gn) 60 60 0|t 2 s ¢ 60,0009+13] = 60,000
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2,494 150 200 =50 |2 4] 1 10,0009 #5+38] = 150,000

3. gRk - Fx1] 640 440 200|253 FHe3)H] 10,0009 1678 #43] = 640,000
2. R RSB ESE A 850 1,000 -150

1. guk=4n) 50 200 -150| S E WSEE 9] ¢ 50,000813] = 50,000

2. 2953 800 800 0|3H-5 WS ZFARH] @ 400,0009+238] = 800,000
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